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1. THO=ZAFONBICHBELZEHSZAD. (SH508, AfK1515%, B2, C#345)

(1) BD:DC=1:1, AE:ED=1:1 (2) BD:DC=1:2, AE:ED=1:1
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(3) BD:DC=3:2, AE:ED=2:1 (4) AD:DB=3:5, DE:EC=1:1
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(5) AD:DC=5:2, BE:ED=2:1 (6) AD:DB=5:8, CE:ED=3:2
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© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. THRO=ZMFONMICHELzEHEZAD. (S50, Ak1o15%, B2y, Cik357)

(1) BD:DC=1:2, AE:ED=1:1 (2) BD:DC=1:3, AE:ED=2:1
A A
E
E
B D C B D C
(3) BD:DC=7:6, AE:ED=2:1 (4) AD:DB=3:7, DE:EC=1:1
A A
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D
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(5) AD:DC=4:3, BE:ED=2:1 (6) AD:DB=5:6, CE:ED=5:3
A A
D D
C
B B C
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RHFAS HELE =BFEin=AF 01 BEFEH

1. TRO=ZAFBONIBICHELEZFZHZAD. (SHK0, A1 15, B#k2D, C#H%345)

A *HOMAR= I (REES) #wbF O & A ZRIchEchc L.

AABD : AACD = BD : DC
{ AABE : AABD = AE : ED
= AABE: AABD: AACD = (BD x AE) : (BD x ED) : (DC x AD)
B D C WA A=Y BCLAD 52T, BC%2EL, AD%2EI T 5.
T2, 132D =AFBICHERDTHEL & THREFIZZEL .

(1) BD:DC=1:1, AE:ED=1:1 (2) BD:DC=1:2, AE:ED=1:1

=
AABE : AEBD : AACD AABD : AACE : AECD
:(®XA):(@XA):<@XA) :(@)xé):(@xﬁ):(@xA)
=1:1:2 =2:2:2=1:1:1

(3 BD:DC=3:2, AE:ED=2:1 (4) AD:DB=3:5, DE:EC=1:1

AABE : AEBD : AACD ADBE : AEBC : AADC
:(@x&):(@x&):(@x&) :(@x&):(@x&):(@x@)
=6:3:6=2:1:2 =5:5:6

(5) AD:DC=5:2, BE:ED=2:1 (6) AD:DB=5:8, CE:ED=3:2

AABE : AAED : ADBC ADBE : AEBC : AADC
:(@x&):(@xﬁ):@@x&) :(xé):(x&):@@x&)
=10:5:6 =16:24:25
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2.

TR =ZAEONIICHELZHEZAD. (S50, Afk15 158, Bi#k27, C#&341)

(1) BD:DC=1:2, AE:ED=1:1

AABE : AEBD : AACD
:(C)XZE):(C)XZB):<C)XAZ)

=1:1:4

(3) BD:DC=7:6, AE:ED=2:1

AABD : AAEC : AEDC
:(C}xﬁi):(C}xéﬁ):(C}xéﬁ)

=21:12:6=7:4:2

(5) AD:DC=4:3, BE:ED=2:1

AABE : AAED : ADBC
:(C)xﬁl):(C)xZﬁ):(C)xéi)

=8:4:9

© -

(2) BD:DC=1:3, AE:ED=2:1

AABD : AACE : AECD
::(C)xéﬁ):(C)xéi):(C)XZL)

=3:6:3=1:2:1

(4) AD:DB=3:7, DE:EC=1:1

ADBE : AEBC : AADC
:(C)xZﬁ):(C)xZﬂ):<C)xél)

=7:7:6

(6) AD:DB=5:6, CE:ED=5:3

ADBE : AEBC : AADC
:(C)xéi):(C)xﬁi):(C)xéﬁ)

=18:30:40=9:15:20
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